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QUESTION 1

Refer to the exhibit. 

Which port on the HP TippingPoint NGFW 3020F front panel is the Dedicated HA port? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: C 

 

QUESTION 2

Which protocols use UDP as a transport protocol by default? (Select two.) 

A. ICMP 

B. RIP 

C. ISP 

D. DHCP 

E. Telnet 

Correct Answer: BD 

 

QUESTION 3

If you want to configure the SMS database retention criteria, which maintenance option should you choose? 

A. Cleanup Now 
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B. Reset 

C. Edit 

D. Refresh 

Correct Answer: D 

 

QUESTION 4

In a Routed Deployment with NAT configuration, which entry must be configured to hide private network addresses? 

A. Destination NAT 

B. Source NAT 

C. Base NAT 

D. Target NAT 

Correct Answer: B 

 

QUESTION 5

Which statement describes an advantage of dynamic routing? 

A. Dynamic routing provides DNS services along with IP connectivity, whereas static routing does not. 

B. Dynamic routing is typically more scalable when compared to static routing. 

C. Unlike static routing, dynamic routing provides redundant IP addresses for end-user devices. 

D. Unlike static routing, dynamic routing requires no initial user configuration 

Correct Answer: C 
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